



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{1}{4}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^0 - \frac{3}{4} =$$

$$\left(-\frac{1}{5}\right)^0 - \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{6} =$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{1}{4} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{3}\right) + \frac{1}{5} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{3}{4} =$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right) + \frac{1}{4} =$$

$$\left(\frac{2}{5}\right)^{(-1)} + \frac{1}{2} =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{1}{4}\right)^{(-1)} - \frac{1}{6} = \frac{23}{6} = 3\frac{5}{6}$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{2} = \frac{43}{10}$$

$$\left(\frac{3}{5}\right)^0 - \frac{3}{4} = \frac{1}{4}$$

$$\left(-\frac{1}{5}\right)^0 - \frac{1}{4} = \frac{3}{4}$$

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{1}{6}\right) = \frac{11}{12}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{48}{5} = 9\frac{3}{5}$$

$$\left(\frac{1}{3}\right)^2 - \frac{3}{5} = \left(-\frac{22}{15}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{3}$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{2}{5}\right) = \frac{13}{20}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{6} = \frac{47}{30} = 1\frac{17}{30}$$

$$\left(-\frac{1}{5}\right)^2 - \frac{1}{2} = \left(-\frac{23}{50}\right)$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{1}{4} = \left(-\frac{13}{12}\right) = \left(-1\frac{1}{4}\right)$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{127}{60} = 2\frac{11}{60}$$

$$\left(\frac{1}{3}\right) + \frac{1}{5} = \frac{8}{15}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{143}{125} = 1\frac{18}{125}$$

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{10}$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{3}{4} = \frac{21}{4} = 5\frac{1}{4}$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{2}{5}\right) = \frac{18}{20} = \frac{9}{10}$$

$$\left(\frac{3}{5}\right) + \frac{1}{4} = \frac{17}{20}$$

$$\left(\frac{2}{5}\right)^{(-1)} + \frac{1}{2} = \frac{9}{10}$$